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MASTER OF ARTS (ECONOMICS)
Term-End Exémination

'MEC-001 : MICROECONOMIC ANALYSIS

Time:3H0urs] . [Maximum : Marks : 100

- Note: Attempt questions from.each Section as per'
instructions given.

_ Section-A
Answer any two questions from this Section.
. 2x20=40
1. Discuss Walrasian eduiiibrium. Under what
‘conditions is the Walrasian equilibrium Pareto
optimal? | |

2. A mohopolist has a cost function of c¢(y) = y, s0
that its marginal cost is constant at Re 1 per unit. -
It faces the following demand curve:

: 0 for P>20
D(P)=|100 P20’
p
(a) Findthe profit maximisingoutput.

(b) lt the g'overnrnent could set a price ceiling on
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Note :

this monopolist to force it to act as a
competitive firm, what price should they set?
What output will the firm produce in such a
situation?

A consumer's preference over a single good x and
other goods y is represented by the utility function
u{x, y) = log{x) + y. if the price of x is p and the
price of y = 1, and income m > 1,

(@)
(b)
(c)

(a)

(b)

Derive the Marshallian demand for x and y.
Derive the indirect utility function.

Use the Slutsky equation to decompose the
effect of an own price change onthe demand

for x into an income and substitution effect.

Discuss the problems arising out of the
presence of hidden action and hidden
information.

Discuss the concepts screening and signalling
under asymmetric information.

Section-B

Answer any five questions from this Section.

5x12=60

Do you agree with the view that public goods
cannot be provided efficiently? Give reasons in
support of your answer.
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6.  (a) Distinguish between pure-strategy Nash
equilibrium and mixed strategy Nash
equilibrium. When is a mixed strategy used?

(b) Find all the Nash equilibria of the following
game:

Player 2 .

: Left Right
Up | (54) (1, 3)

Down | 4,1) | (2.2

Player 1

-

7. Assume that there are four firms supplying a
| homogeneous product. They have identical cost
functions given by C(Q) = 40Q. If the demand curve

for the industry is given by:

=100 - ¢,

find the equilibrium industry output if the producers
are Cournot competitors. What would be the
resultant market price? What are the prof ts of
eachfirm?

8.  Critically examine the arguments put forth by
Baumolin his model of an alternative theory of the
firm, | -

9. Wirite short notes on the following:

(a) Envelope theorem
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10.

1.

12.

(b) Translog production function

(¢} Pooling equilibrium

Differentiate between:

(a) Pareto’s and Pigou's approach to welfare
- analysis |

(b) Firstand third degrees of price discrimination

(c)  Shepherd's Lemma and Hotelling's Lemma

Consider the production function y = f (x4, x5) =

x4% x,1-%. Obtain the input-demand functions -

xq(p, wq, Wy, a), xo(p, wq, wp, o), the profit

functi_on_':t(p, wq, wp, ®) and the supply function

Wp, wq, wo, ). Here y is output, xq, x5 are the

inputs; p is output price; w4, wo are the input price,

T is profit.

Consider a lottery with three possible outcomes,
viz., Rs. 100 will be received with probability 0.1.
Rs. 50 will be received with probability 0.2., Rs. 10
will be received with probability 0.7.

(a) What is the expected revenue of the lottery?

(b) What would a risk neutral person pay to play
the lottery?
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10.

11.
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